

#### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 6, 2020

Progress Estimate Number	Contract ID	190517-A01	<b>Pay Period Start</b>	April 16, 2020	Original Contract Amount	\$1,483,090.35
17	Prime Contractor	Boone Construction Co.	Pay Period End	• •	Net Change Order Amount	1 1
••					Current Contract Amount	\$1,578,506.01

Approval Date		By User
May 6, 2020	Generated and Approved (and should be considered Draft) at the Project Office Level by	floraj1
May 6, 2020	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	jacobl
May 6, 2020	Reviewed and Approved at the Central Office Controllers Office Level by	greggd1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
December 1, 2019	April 17, 2020		95.98%

#### **Contract Informational Dates**

Date Description	Original Completion Date	Current Completion Date
Acceptance Date		
Awarded Date	June 5, 2019	June 5, 2019
Letting Date	May 17, 2019	May 17, 2019
Notice to Proceed Date	July 8, 2019	July 8, 2019
Open to Traffic Date		
Work Began Date	September 3, 2019	September 3, 2019

Milestones										
Date Description	Original Completion Date	Current Completion Date	Days Remaining on Milestone	Diary Charge Days						
Milestone - Calendar Time	January 5, 2020	January 5, 2020	Milestone Complete							
Milestone - Completion Date	December 1, 2019	December 1, 2019	-162							

#### Contract Total Pay For Estimate No. 17

	This Estimate	Previous	To Date	
190517-A01				
Total Posted Items Pay	\$225,735.60	\$1,289,237.91	\$1,514,973.51	
Gross Item Adjustments	(\$9,172.60)	\$21,947.20	\$12,774.60	
Incentive	\$0.00	\$0.00	\$0.00	
Disincentive	\$0.00	\$0.00	\$0.00	
Liquidated Damage	\$0.00	\$0.00	\$0.00	
Other Contract Adjustmen	ts \$0.00	\$0.00	\$0.00	
		\$1,311,185.11	\$1,527,748.11	
Contract Total Payable This Estimate:	\$216,563.00			

#### Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount				
J1S3055	0090	4019905	MISC.OPTIONAL PAVEMENT (10 IN. BP VS. 8 IN. JPCP)	SQYD	\$65.000	3,093	\$201,045.00				
	0160	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$2.500	1,936	\$4,840.00				
	0170	6240104A	SEPARATION GEOTEXTILE	SQYD	\$1.800	2,407	\$4,332.60				
	0230	8061019	SILT FENCE	LF	\$2.000	1,709	\$3,418.00				
	0320	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	SQYD	\$110.000	110	\$12,100.00				
Project J15	roject J1S3055 - Total										
Overall - To	verall - Total										

#### Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

	ne Item Adjustments This Estimate													
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount						
J1S3055	0160	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Overrun			-13	\$2.50	(\$32.50)						

Revision 4/1/2020 Page 1 of 9



#### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 6, 2020

Progress Estimate Number	Contract ID	190517-A01	<b>Pay Period Start</b>	April 16, 2020	Original Contract Amount	\$1,483,090.35
17	Prime Contractor	Boone Construction Co.	Pay Period End		Net Change Order Amount	
					Current Contract Amount	\$1,578,506.01

							* .,,	,
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J1S3055	0160	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-1,936	\$2.50	(\$4,840.00)
	0160	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 7 on the current Payment Estimate.	13	\$2.50	\$32.50
	0170	SEPARATION GEOTEXTILE	Material			-2,407	\$1.80	(\$4,332.60)
Total								(\$9,172.60)

Revision 4/1/2020 Page 2 of 9



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(	Contract Project Information	
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J1S3055	FAS S101(13)	Bridge replacement	111	ATCHISON	over Mill Creek, 1 mile s	outh of Route Z near Cornin	ng
Totals by J	Job Numbe	rs					
J1S3055	Poste	d Item Pay			This Estimate \$225,735.60	Previous \$1,289,237.91	To Date \$1,514,973.51
	Gross	Item Adjustm		s Item Pay	(\$9,172.60) <b>\$216,563.00</b>	\$21,947.20 <b>\$1,311,185.11</b>	\$12,774.60 <b>\$1,527,748.11</b>
	Incent	tive centive			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00
	Liquid	lated Damages Contract Adju		•	\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00

Revision 4/1/2020 Page 3 of 9



### Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

#### **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Exceeded Completion Time Exception: Contract 190517-A01, Time ID CM 01 CD, Time Type Completion Date, Current Completion Date 12/1/2019 11:14:36 AM.	No Remark was entered by Engineer	floraj1	Acknowledged
Estimate Exception Type: Exceeded Completion Time Exception: Contract 190517-A01, Time ID 00 DT, Time Type Completion Date, Current Completion Date 4/17/2020 12:00:00 PM.	No Remark was entered by Engineer	floraj1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J1S3055, Item 6206001C, Project Item Line Number 0160, Material Set 6206001C96, Material 0620PMLI - Pavement Marking Performance Line, Acceptance Action Generic 0620PMLI is insufficient.	No Remark was entered by Engineer	floraj1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J1S3055, Item 6206001C, Project Item Line Number 0160, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	No Remark was entered by Engineer	floraj1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J1S3055, Item 6206001C, Project Item Line Number 0160, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No Remark was entered by Engineer	floraj1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J1S3055, Item 6240104A, Project Item Line Number 0170, Material Set 6240104A96, Material 1011GXT4 - Geotextile Fabric for Separation (T4), Acceptance Action Generic 1011GXT4 is insufficient.	No Remark was entered by Engineer	floraj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 190517-A01, Contract Project J1S3055, Project Item Line Number 0160, Contract Line Item Number 0160, Item 6206001C, Minor Item.	Override for this exception was system generated due to greater item withholding on other pay estimate exceptions.	floraj1	Overridden

Revision 4/1/2020 Page 4 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
190517-A01	J1S3055	0001	0010	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	1.00	\$1,500.00	\$1,500.00
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$15,000.00	\$15,000.00
		0001	0030	2031000	CLASS A EXCAVATION	1,445.00	0.00	1,445.00	CUYD	1,445.00	\$9.25	\$13,366.25
		0001	0040	2035500	EMBANKMENT IN PLACE	5,349.00	0.00	5,349.00	CUYD	6,500.00	\$16.50	\$88,258.50
		0001	0050	2036000	COMPACTING EMBANKMENT	1,272.00	0.00	1,272.00	CUYD	1,272.00	\$4.50	\$5,724.00
		0001	0060	2142000	FURNISHING ROCK FILL	3,113.00	0.00	3,113.00	CUYD	3,113.00	\$37.00	\$115,181.00
		0001	0070	2143000	PLACING ROCK FILL	3,113.00	0.00	3,113.00	CUYD	3,113.00	\$10.00	\$31,130.00
		0001	0080	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	3,093.00	0.00	3,093.00	SQYD	3,093.00	\$10.00	\$30,930.00
		0001	0090	4019905	MISC.OPTIONAL PAVEMENT (10 IN. BP VS. 8 IN. JPCP)	3,093.00	0.00	3,093.00	SQYD	3,093.00	\$65.00	\$201,045.00
		0001	0100	6161005	CONSTRUCTION SIGNS	440.00	0.00	440.00	SQFT	299.00	\$11.00	\$3,289.00
		0001	0110	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$90.00	\$180.00
		0001	0120	6161009	FLAG ASSEMBLY	2.00	0.00	2.00	EA	2.00	\$28.00	\$56.00
		0001	0130	6161031	TYPE III MOVEABLE BARRICADE WITH LIGHTS	16.00	0.00	16.00	EA	14.00	\$275.00	\$3,850.00
		0001	0140	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	60.00	0.00	60.00	LF	0.00	\$45.00	\$0.00
		0001	0150	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$100,000.00	\$100,000.00
		0001	0160	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,923.00	0.00	1,923.00	LF	1,936.00	\$2.50	\$4,807.50
		0001	0170	6240104A	SEPARATION GEOTEXTILE	2,407.00	0.00	2,407.00	SQYD	2,407.00	\$1.80	\$4,332.60
		0001	0180	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$3,000.00	\$3,000.00
		0001	0190	8051000A	SEEDING - COOL SEASON MIXTURES	0.70	0.00	0.70	ACRE	0.50	\$4,000.00	\$2,000.00
		0001	0200	8061005	ROCK DITCH CHECK	37.00	0.00	37.00	LF	0.00	\$55.00	\$0.00
		0001	0210	8061016	SEDIMENT REMOVAL	29.00	0.00	29.00	CUYD	0.00	\$30.00	\$0.00
		0001	0220	8061017	TEMPORARY SEEDING AND MULCHING	0.20	0.00	0.20	ACRE	0.00	\$5,000.00	\$0.00
		0001	0230	8061019	SILT FENCE	2,435.00	0.00	2,435.00	LF	1,709.00	\$2.00	\$3,418.00
		0001	0240	8061050	TYPE C BERM	225.00	0.00	225.00	LF	225.00	\$48.00	\$10,800.00
		0001	0250	8064120	TYPE 1 EROSION CONTROL BLANKET	3,616.00	0.00	3,616.00	SQYD	0.00	\$2.00	\$0.00
		0010	0260	6061060	MGS GUARDRAIL	100.00	0.00	100.00	LF	100.00	\$25.00	\$2,500.00
		0010	0270	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	675.00	0.00	675.00	LF	675.00	\$25.00	\$16,875.00
		0010	0280	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$3,100.00	\$12,400.00
		0010	0290	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$2,900.00	\$11,600.00
		0070	0300	2061000	CLASS 1 EXCAVATION	115.00	0.00	115.00	CUYD	115.00	\$26.00	\$2,990.00
		0070	0310	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$45,000.00	\$45,000.00
		0070	0320	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	110.00	0.00	110.00	SQYD	110.00	\$110.00	\$12,100.00
		0070	0330	7021316	GALVANIZED CAST-IN-PLACE CONCRETE PILES (16 IN)	1,990.00	1,086.86	3,076.86	LF	3,076.86	\$81.00	\$249,225.66
		0070	0340	7025001	DYNAMIC PILE TESTING	4.00	0.00	4.00	EA	4.00	\$3,300.00	\$13,200.00
		0070	0350	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	79.30	0.00	79.30	CUYD	79.30	\$675.00	\$53,527.50
		0070	0360	7034215	SAFETY BARRIER CURB	424.00	0.00	424.00	LF	424.00	\$80.00	\$33,920.00
		0070	0370	7034221	SLAB ON CONCRETE NU-GIRDER	565.00	0.00	565.00	SQYD	565.00	\$390.00	\$220,350.00
		0070	0380	7056021	NU 35, PRESTRESSED CONCRETE NU-GIRDER	746.00	0.00	746.00	LF	746.00	\$290.00	\$216,340.00
		0070	0390	7061060	REINFORCING STEEL (BRIDGES)	6,350.00	0.00	6,350.00	LB	6,350.00	\$1.20	\$7,620.00
		0070	0400	7123610	SLAB DRAIN	18.00	18.00	36.00	EA	36.00	\$410.00	\$14,760.00
		0070	0410	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$1,900.00	\$3,800.00
		0070	0420	7161000	PLAIN NEOPRENE BEARING PAD	8.00	0.00	8.00	EA	8.00	\$150.00	\$1,200.00
		0070	0430	7161002	LAMINATED NEOPRENE BEARING PAD	16.00	0.00	16.00	EA	16.00	\$315.00	\$5,040.00
	Project J	1S3055 - To	otal Value	Posted to D	late as of Report Generated Date							\$1,560,316.01
190517-A01 Ove	erall - Total	Value Post	ted to Dat	te as of Repo	ort Generated Date							\$1,560,316.01

Page 5 of 9 Revision 4/1/2020



## Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J1S3055

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0090	4019905	MISC.	4/20/20	5/4/20	3,093.00	SQYD		348+60		362+60		
0160	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	4/29/20	5/4/20	1,936.00	LF	Rte. 111 centerline striping	348	60	362	60	
0170	6240104A	SEPARATION GEOTEXTILE	4/23/20	4/28/20	2,407.00	SQYD		348+60		362+60		
0230	8061019	SILT FENCE	4/23/20	4/28/20	1,709.00	LF		348+60		362+60		
0260	6061060	MGS GUARDRAIL	4/22/20	5/6/20	-100.00	LF		348+60		362+60		Removed quantity due to no reporting causing deduct or materials and stockpile allowance
				5/6/20	100.00	LF		348+60		362+60		390" of rail, 1 MASH end section, 1 Transition section, 1 bridge anchor, of the NIV corner of the bridge, 113" of rail, 1 MASH end section, 1 Transition section, 1 bridge anchor, off the SE corner of the bridge.  113" of rail, 1 MASH end section, 1 Transition section, 1 bridge anchor, off the SV corner of the bridge.  10" rail, 1 MASH end section, 1 Transition section, 1 bridge anchor, off the SV corner of the bridge.  10" rail, 1 MASH end section, 1 Transition section, 1 bridge anchor, off the NE corner of the bridge.  10" a total off or a total off off the SE corner of the bridge.  10" a total off off MSS guardrail,  14" MASH end sections  14" Bridge Transition sections
0270	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	4/22/20	5/6/20	-675.00	LF		348+60		362+60		Plan Quanity paid.  Removed quantity due to no reporting causing deduct on materials and stockpile allowance
				5/6/20	675.00	LF		348+60		362+60		390° of rail, 1 MASH end section, 1 Transition section, 1 bridge anchor, off the NW corner of the bridge. 113° of rail, 14 MASH end section, 1 Transition section, 1 bridge anchor, off the SE corner of the bridge. 313° of rail, 14 MASH end section, 1 Transition section, 1 bridge anchor, off the SE corner of the bridge. 313° of rail, 14 MASH end section, 1 Transition section, 1 bridge anchor, off the NE corner of the bridge. 31° of rail, 14 MASH end section, 1 Transition section, 1 bridge anchor, off the NE corner of the bridge. 31° LEF of MSS guardrail, 4 MASH end sections 4 Bridge Transition sections 91° of the SE of t
0280	6061069	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	4/22/20	5/6/20	-4.00	EA		348+60		362+60		Removed quantity due to no reporting causing deduct or materials and stockpile allowance
				5/6/20	4.00	EA		348+60		362+60		390' of rail, 1 MASH end section, 1 Transition section, 1 bridge anchor, off the NW corner of the bridge. 113 of rail, 1 MASH end section, 1 Transition section, 1 13 of rail, 1 MASH end section, 1 Transition section, 1 137 of rail, 1 MASH end section, 1 Transition section, 1 bridge anchor, off the SW corner of the bridge or rail, 1 MASH end section, 1 Transition section, 1 bridge anchor, off the NE corner of the bridge or all, 1 MASH end section, 1 Transition section, 1 bridge for a total of: 816LF of MGS guardrail, 4 MASH end sections 4 MASH end sections Plan Quanity paid.
0290	6063014	TYPE A CRSHWTHY END TERMINAL (MASH)	4/22/20	5/6/20	-4.00	EA		348+60		362+60		Removed quantity due to no reporting causing deduct on materials and stockpile allowance
				5/6/20	4.00	EA		348+60		362+60		390' of rail, 1 MASH end section, 1 Transition section, 1 bridge anchor, off the NW corner of the bridge. 113 of rail, 1 MASH end section, 1 Transition section, 1 bridge anchor, off the SE corner of the bridge. 313' of rail, 1 MASH end section, 1 Transition section, 1 bridge anchor, off the SW corner of the bridge. 10 rail, 1 MASH end section, 1 Transition section, 1 bridge anchor, off the NE corner of the bridge. 10 rail, 1 MASH end section, 1 bridge anchor, off the NE corner of the bridge. 10 for a total of 816LF of MSS guardrail, 4 MASH end sections 4 Bridge Transition sections
												Plan Quanity paid.
	E021011A	BRIDGE APPROACH SLAB (MINOR ROAD)	4/20/20	5/4/20	110.00	SQYD		384+60		362+60		

The information below this line are details from Line Item agency views. No Agency View Details Exist

Revision 4/1/2020 Page 6 of 9



### Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

						1		
Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0040	EMBANKMENT IN PLACE	Material		14	Mar 17, 2020	SYSTEM	(\$21,450.00)	
			- Total				(\$21,450.00)	
		Material - Tota	l				(\$21,450.00)	
		MaterialCredit		15	Apr 3, 2020	SYSTEM	\$21,450.00	
			- Total				\$21,450.00	
		MaterialCredit	- Total				\$21,450.00	
0040 -	Total						\$0.00	
0050	COMPACTING EMBANKMENT	Material		14	Mar 17, 2020	SYSTEM	(\$4,068.00)	
			- Total				(\$4,068.00)	
		Material - Tota					(\$4,068.00)	
		MaterialCredit		15	Apr 3, 2020	SYSTEM	\$4,068.00	
			- Total				\$4,068.00	
		MaterialCredit	- Total				\$4,068.00	
0050 -	Total						\$0.00	
0160	4 IN. YELLOW WATERBORNE	Material		17	May 6, 2020	SYSTEM	(\$4,840.00)	
	PAVEMENT MARKING		- Total				(\$4,840.00)	
		Material - Tota	ı				(\$4,840.00)	
		Overrun	Overrun	17	May 6, 2020	SYSTEM	(\$32.50)	
				17	May 6, 2020	SYSTEM	\$32.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 7 on the current Payment Estimate.
			Overrun - To	otal			\$0.00	
		Overrun - Tota	ıl				\$0.00	
0160 -	Total						(\$4,840.00)	
0170	SEPARATION GEOTEXTILE	Material		17	May 6, 2020	SYSTEM	(\$4,332.60)	
			- Total				(\$4,332.60)	
		Material - Tota	l				(\$4,332.60)	
0170 -	Total						(\$4,332.60)	
0260	MGS GUARDRAIL	Construction Stockpile		3	Oct 1, 2019	SYSTEM	\$444.20	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$444.20	
		Construction S	Stockpile - To	otal			\$444.20	
0260 -	Total						\$444.20	
0270	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	Construction Stockpile		3	Oct 1, 2019	SYSTEM	\$8,883.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$8,883.00	
		Construction S	Stockpile - To	otal			\$8,883.00	
0270 -	Total						\$8,883.00	
0280	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile		3	Oct 1, 2019	SYSTEM	\$6,228.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	CURB)		- Total				\$6,228.00	
		Construction S	Stockpile - To	otal			\$6,228.00	
0280 -	Total						\$6,228.00	
0290	TYPE A CRSHWTHY END TERMINAL	Construction Stockpile		3	Oct 1, 2019	SYSTEM	\$6,392.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	(MASH)		- Total				\$6,392.00	
		Construction S	Stockpile - To	otal			\$6,392.00	
0290 -	Total						\$6,392.00	
0330	GALVANIZED CIP CONCR PILES (16 IN)	Construction Stockpile		5	Nov 5, 2019	SYSTEM	\$93,775.50	Payment Estimate Item Adjustment generated Stockpile Transaction

Revision 4/1/2020 Page 7 of 9



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0330	GALVANIZED CIP CONCR PILES (16 IN)	Construction Stockpile		6	Nov 18, 2019	SYSTEM	(\$93,775.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
		Construction S	struction Stockpile - Total				\$0.00	
		Overrun	Overrun		Nov 18, 2019	SYSTEM	(\$72,483.66)	
				8	Dec 17, 2019	SYSTEM	\$72,483.66	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',81.00000 - 81.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
		Overrun - Tota	ıl				\$0.00	
0330 -	Total						\$0.00	
0360	SAFETY BARRIER CURB	Construction Stockpile		5	Nov 5, 2019	SYSTEM	\$5,945.88	Payment Estimate Item Adjustment generated Stockpile Transaction
				14	Mar 17, 2020	SYSTEM	(\$5,945.88)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
		Construction S	Stockpile - To	otal			\$0.00	
0360 -	Total						\$0.00	
	SLAB ON CONCRETE	Construction		_	Nov E	CVCTEM		Downers Estimate Item Adjustment generated Steeknile Transaction
0370	NU-GIRDER	Construction Stockpile		10	Nov 5, 2019	SYSTEM	\$33,041.52	Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction
					Jan 17, 2020		(\$7,853.94)	· · · · · · · · · · · · · · · · · · ·
				12	Feb 18, 2020	SYSTEM	(\$13,761.77)	Payment Estimate Item Adjustment generated Stockpile Transaction
				13	Mar 2, 2020	SYSTEM	(\$11,425.81)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$1.8189894E-12	
		Construction S	Stockpile - To	otal			\$0.00	
0370 -	Total						\$0.00	
0390	REINFORCING STEEL (BRIDGES)	Construction Stockpile		5	Nov 5, 2019	SYSTEM	\$3,445.07	Payment Estimate Item Adjustment generated Stockpile Transaction
				10	Jan 17, 2020	SYSTEM	(\$3,445.07)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
		Construction S	Stockpile - To	otal			\$0.00	
0390 -	Total						\$0.00	
0400	SLAB DRAIN	Construction Stockpile		6	Nov 18, 2019	SYSTEM	\$3,420.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				15	Apr 3, 2020	SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
		Construction S	Stockpile - To	otal			\$0.00	
		Material		14	Mar 17, 2020	SYSTEM	(\$7,380.00)	
			- Total				(\$7,380.00)	
		Material - Tota					(\$7,380.00)	
		MaterialCredit	15		Apr 3, 2020	SYSTEM	\$7,380.00	
			- Total				\$7,380.00	
		MaterialCredit					\$7,380.00	
0400 -	Total						\$0.00	
0410	VERTICAL DRAIN AT END BENTS	Construction Stockpile		6	Nov 18, 2019	SYSTEM	\$1,168.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	2.13 521110			14	Mar 17, 2020	SYSTEM	(\$1,168.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
		Construction Stockpile - Total					\$0.00	
0440	Tatal	Sonstruction 8	Stockpile - 10	rtai				
174410 -	Total						\$0.00	

Revision 4/1/2020 Page 8 of 9



### Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
Overall - Total							\$12,774.60	

Revision 4/1/2020 Page 9 of 9